EMBAAOMETPHZH ArPOTEMAXIOY 1

Me tn BorBeia
TWV 0pBOYWVIKWY OUVTETAYHEVWY
TWV KOPUPWV ToU
THMEIO X Y MHKOZ _|
1 300779.37 4224973.66 16.34
2 300795.71 4224973.47 15.92
3 300811.51 4224971.52 —_—__ZZ- 88
4 300817.11 4224944 .23 7.86
5 300811.50 4224938.73 299
8 300810.41 4224935.94 ——-5"'6;"‘"'
i 300809.81 4224933.00 10.00
8 300800.82 4224928.61 49.89
1 300779.37 4224973.66

E=1/2 $(XI + Xi+1)(W1 - Wi+1)

E1=1.003,61 p2

EMBAAOMETPHZH ArPOTEMAXIOY 2

Me ™ BorBeia

TWY 0PBOYWVIKWY CUVTETAYHEVWY

TWV KOPUQWYV Tou

SHMEIO X Y MHKO3
9 300817.41 | 4224917.05
10 30087211 | 4224882.41 64,74
11 300881.75 | 422487675 11.18
12 300888.31 | 4224873.82 7.18
13 300895.32 | 4224871.50 7.38
14 300931.86 | 422486078 38.08
15 300934.81 | 4224819.81 41.07
16 30089243 | 422483700 [— 4673 |
17 30086715 | 422484488 |—2648 |
18 30084918 | 422485046 — 1882 |
9 300817.41 | 4224917.05 |— 7378
E=1/2 Z(X1 + Xi+1)(Y - Wi+1) i
R

E2 = 4.004,67 u2




